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University of Patanjali

Examination December — 2018
B.A. (with Yoga Science) (Semester : Third)
Psychology (Paper : Second)

Psychological Statistics

Max. Marks: 75

Note: This paper is of seventy five (75) marks divided into three (03) sections A, B, and C. Attempt the
questions contained in these sections according to the detailed instructions given therein.
dic : Ig Ugelus gggae (75) 3o @r § o oo (03) WSk w, w, gur o I fRnfera ¥l

gdF wWus & e ore RFeqa Bi&it & sigare & gl & 6 wear ¢l

Section - A | @&

(Long Answer Type Questions) /(@e-sudler uzer)

Note: Section 'A’ contains five (05) long-answer-type questions of fifteen (15) marks each. Attempt any
three questions.

dic : @Wus ‘@ F urg (05) df-3udty vsew W ¥, uds usa & fow umg 3w forgiRa ¥
fregt dter uzait & 3w |

1. RraféRas goffas yrarar (N=48) & faw sngfar sgefer sl

(3x15=45)

(El'dfaic_ﬂl?)') 28-30 25-27 22-24 19-21 16-18 13-15 10-12 7-9
(3mgfa) 6 4 7 10 4 6 5 6
Plot a Frequency — Polygon for the following grouped scores (N=48).
Class Interval 28-30 25-27 22-24 19-21 16-18 13-15 10-12 7-9
Frequency 6 4 7 10 4 6 5 6
2. frafeRaa 50 uraar (N=50) & fow sngfy fGaeor o waem Fifene|
60 45 53 21 45 79 56 49 55 41
25 53 54 20 52 36 55 41 62 57
51 24 41 63 66 54 44 45 57 63
54 39 37 61 34 56 41 70 51 64
76 62 35 45 31 56 41 50 61 50
Draw a frequency distribution for the following 50 scores (N=50).
60 45 53 21 45 79 56 49 55 41
25 53 54 20 52 36 55 41 62 57
51 24 41 63 66 54 44 45 57 63
54 39 37 61 34 56 41 70 51 64
76 62 35 45 31 56 41 50 61 50
3. RraféRas aoffed uraidr (N=113) & Feraa Hfedd Feaa f[afgr (ag RAfy) gor smo
Fifora|
(aofsremer®) | 70-74 65-69 60-64 55-59 50-54 45-49 40-44
(smmgfa) 14 16 17 19 15 18 14
Calculate Mean of the following grouped scores (N=113) using assumed mean method (short method).
Class Interval 70-74 65-69 60-64 55-59 50-54 45-49 40-44
Frequency 14 16 17 19 15 18 14
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4. RrafeRad goffes graier (N=72) @ agafe Rfaea (Q) sa sl

CLE M)

50-54 45-49 40-44 35-39 30-34 25-29 20-24
(3ngfaT) 7 9 11 17 12 11 5
Calculate the quartile deviation (Q) of the following grouped score (N=72).
Class Interval 50-54 45-49 40-44 35-39 30-34 25-29 20-24
Frequency 7 9 11 17 12 11 5

5. wr Tonery faaeor waE 9 dig 3uHasr o fwaw diftel ydwe Iuwas F Raa faeor
o ufdge varsel afk RenRRr & gwr go [&oer & 500 ¥, 99 Iose ud® wgE
fhaer fRrameff Raa ¥ 2
Divide a normal distribution group into five sub-groups. Find out the percentage of distribution for
each sub-group. How many students are there in each group if 500 students make total distribution?

Section - B /| @wvs-@
(Short Answer Type Questions) /(eg-3adlar gze)
Note: Section 'B' contains Six (06) short-answer-type questions of five (05) marks each. Attempt any
four (04) questions. (4x5=20)
dic : @us @ F B (06) GY-3TIT Usa W o ¥, yd uead & fow urg 3w RrafRa Tl
fhegl aTe yzeil & 3¢ el

1. @iferd & arf ud siqueielt @1 avier Sferg
Describe the meaning and applications of statistics?

2. Feganer @1 3rf wa frdywarsit #r avfer dHiferal
Describe the meaning and characteristics of mean?

3. PATHAD AU Qd Ho0eI® AU T dvfel Hifere|
Describe ordinal and interval scales.

4. Rrooasioar & Suca o gvfad Hiog|
Describe the concept of Variability.

5. TS HINIHAT dP o A I §2
What are the characteristics of a normal probability curve?

6. AT TAT Wi AW H FAAI
Discuss the continuous and discrete series.

Section - C / @us-or
(Objective Type Questions) /(awgfers uzer)

Note: Section 'C' contains ten (10) objective-type questions of one (01) mark each. All the questions of
this section are compulsory. (10x01=10)

dic : @us ‘or 3 cer(10) geqgfers Usd Ru a1 ¥, Uo® Uee & faw wh (01) 3w RrafRRa ¥
T @us & Foft gger siforaref ¥

1. Priy oo fna & & g At ot RFDUAT § oo
(31) wnfdre FTUet () PAYTD AT}
(&) IeTue AT (3) 3reIuTa ATTGY

The absolute zero is the characteristic of which of the following scale
(A) Nominal Scale
(C) Interval Scale

(B) Ordinal Scale
(D) Ratio Scale
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2. faeor o1 ded e afdvendh ufdfoifa wear ardt dafer yafar Prer-=f ¥?2

(31) eI () F=TH

(&) Sgoi® () s & P gt

Which central tendency is the most powerful representative of distribution?

(A) Mean (B) Median

(C) Mode (D) None of the above
3. foeor & o A sgfly aTor UTWIE AT F e

(31) e (@) F=xD

(&) sgoTd () Fafdeg

Most frequent score of the distribution is .............

(A) Mean (B) Median

(C) Mode (D) Midpoint

4. foreor & 7=y F v W g o fored w50 ufvee ywie o forrd oty 50 ufdea
YIS T B, PET & oo
(31) FeIATT (@) F=nD
(&) smgfay () Feafdsg
In the middle of a distribution, a point, above which 50 percent scores fall and below which 50 percent
scores fall is called ........

(A) Mean (B) Median
(C) Frequency (D) Midpoint
5. AT GHATHAT I BT AGAAT YOS FAT T oo
) g @) @
' & @) FRgeT
The coefficient of skewness of a normal probability curve is ..........
(A) Zero (B) One
(©) Two (D) With Error
6. AT YEHTAT O B smraree@r [Furfora T ¥ o
(31) 6 fyoar sHIAT F (@) 5 Ryoar st 3
@) 2 foar soset & () 3 Ryoar sHsedt &
The base-line of a normal probability curve is divided into ......
(A) 6 Sigma Units (B) 5 Sigma Units
(C) 2 Sigma Units (D) 3 Sigma Units
7. Z- UTET® FTT TR BT G § oo
(& Z=X—-M/o @ Z=X-Mx2
@ Z=X-M/20 () 3udTT F F P E
The formula of calculating the Z — Score is .......
(A Z=X-M/o B) Z=X-Mx2
C) zZ=X-M/20 (D) None of the above

8. RrpafeRas uraiar & FeraTea ot avET AP
3 6 8 3 8 2 5
(@) 5 @) 6
(&) 4 ® 7
Calculate the mean of the following scores .
3, 6 8 3 8 2 5
(A) 5 (B) 6
€ 4 (D) 7
9. RraféRad uraiadr & sgoie At o HFT|
7, 2, 7, 7, 2, 7, 3, 4 7, 5
(@) 2 @ 1
(@) 7 @ 6
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Calculate the mode of the following scores.

7, 2, 7, 7, 2, 7, 3, 4 7, 5
(A) 2 (B) 1
C) 7 (D) 6

10. ProaifeRad griar & Fed o omeT Hifon|
3, 4 6, 8 7, 9 5 2 1
(31) 65 @ 75
&) 6 ® 5
Calculate the median of following scores.
3, 4 6, 8 7, 9 5 2, 1
(A) 6.5 (B) 7.5
C) 6 (D) 5
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